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https://en.wikipedia.org/wiki/Binary_search_algorithm

Repartitioning
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Repartitioning (A1)
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DynamoDB Autoscaling (Provisioned)

Provisioned IOPSE AFEY 4% 0|= Ofell HaAlg S FESHY 27ESHA| 7| HEE L L.
1. BEEA], wCu/RcUOf Chot 7HEH Q1 S M2 A4 OF g L Ct.

2. GSIE A SHAICHH, BEE A| Master TableXt & 23 Autoscaling’d XS LASHM A L.

3. PF9F Global TableZ| 52 & &°ICH, “2 & 2|0 =&t Autoscaling @S X|°dgFL| L.
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5. Scale In-outO| E5t= 7| &S = QIS Al R.
[Scale out] trigger
: Two continuous 1 minute windows over target utilization

[Scale in] trigger
: 15 continuous 1 minute windows under 80% target utilization
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Join®] 7S CEAH| & 4 92k
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USERO0O1, HNK, 821010XX, Seoul..., 03-240-X, 1000000

[Coding] String id = .getString(1); String name = .getString(2); String telno = .getString(3); ...; String accounted = resultset.getString(5); ...

DynamoDBOf| A JOIN 7 &2 F7H2| Y| ZEF 0| Z=2|5t= A RIL| L.

USEROO1 USER HNK 821010xx Seoul...

USEROOT ACC 03-240-X 1,000,000

Query
{ “TableName” : “"USERMASTER", “ProjectionExpression” : “id, sortkey, name, tel, addr, acc_id, bal”, “KeyConditionExpression” : “id = :v1", ... }

[Coding] ItemCollection<UserMaster> items = table.query(spec); Iterator<item> iterator = items.iterator(); Iltem item = null;
while(iterator.hasNext()) { item = iterator.next(); if( item.get(“sk").equals classmap(targetBean, User.class, item ) else classmap(targetBean, Acc.class,item) }




Parent-Child Query

RDBMSO|| A Parent-Child (Master-Detail) 2 Efl 2] ViewE AT AL, EE 2H 9| QueryE =3

Parent View Query 1 : Master Table Query

Child View

_Query 2 : Child Table Query

DynamoDBO| A=, StLE2| QueryOl|A] O 2t H =l H|O| = Record=S 7HX[ 2 = &= A L L.

USEROO1 USER HNK 821010xx Seoul...

USEROOT ACC 03-240-X 1,000,000
USEROO1 ACC 01-210-X 500,000
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821010xx SRV_001_LOBBY USEROO1

SRV_002_WORLD USEROO1

SRV_003_WORLD USEROO1

7| BE ANH HE7F D™EX™0| 0, AIEXL HE E5| 201 A|™Ho| HEQ UXSHA|
HAEAL|O ULCHH, O HZEE otLe| M ZEZE FOHM XMSdl = = UA & LIC

USERO0O1 821010xx {servers:[{
server_id : “SRV_001_LOBBY",
region : “SEOUL"

b
server_id : “SRV_002_WORLD",

region : “SEOUL"
b
server_id : “SRV_003_WORLD",
region : “SEOUL"
1]
}




Attribute Overriding
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Column name
EMPLOYEE_ID
MOB_TEL_NO
RESID_ID
ADDR
WORK_TEL_NO

HOME_TEL_NO

Biz Domain
ID_TYPE
MOB_TYPE
RESIDID_TYPE
ADDR_TYPE
TELNO_TYPE

TELNO_TYPE

Physical Type

VARCHAR(12)
VARCHAR(11)
VARCHAR(13)
VARCHAR(255)
VARCHAR(11)

VARCHAR(11)

Comment

Excluded Dash

Excluded Dash

Excluded Dash

Column name
SERVICE_ID
MANAGER_ID
REPR_TEL_NO
ENTRY_POINT
CREATE_DT

MODIFIED_DT

Biz Domain
SVCID_TYPE
ID_TYPE
TELNO_TYPE
URL_TYPE
DT_TYPE

DT_TYPE

Physical Type

VARCHAR(12)
VARCHAR(12)
VARCHAR(11)
VARCHAR(255)
TIMESTAMP TZ

TIMESTAMP TZ

Comment

Dash Excluded




Attribute Overriding
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Column name
EMPLOYEE_ID
MOB_TEL_NO

Biz Domain
ID_TYPE
MOB_TYPE

Physical Type
VARCHAR(12)
VARCHAR(11)
VARCHAR(13)

Comment

Excluded Dash

Column name
SERVICE_ID
MANAGER_ID
REPR_TEL_NO

Biz Domain
SVCID_TYPE
ID_TYPE
TELNO_TYPE

Physical Type
VARCHAR(12)
VARCHAR(12)
VARCHAR(11)

Comment

Dash Excluded

RESID_ID
ADDR ADDR_TYPE

TELNO_TYPE
TELNO_TYPE

RESIDID_TYPE
VARCHAR(255)

TIMESTAMP TZ
TIMESTAMP TZ

ENTRY_POINT
CREATE_DT
MODIFIED DT

VARCHAR(255) URL_TYPE

VARCHAR(11)
VARCHAR(11)

Excluded Dash
Fxcluded Dash

WORK_TEL_NO DT_TYPE

HOME_TEL_NO DT_TYPE

Column name Biz Domain Physical Type Comment INDEX_NAME

ID ID_TYPE, SVCID_TYPE String
MOB_NO MOB_TYPE, TELNO_TYPE String
RES_MGR_ID RESIDID_TYPE, ID_TYPE String
ADDR ADDR_TYPE String

Employee_id, Service_id overloaded
Mob_tel_no, repr_tel_no

Resid_id, manager_id
WORK_TEL_NO Work_tel_no
HOME_TEL_NO
ENTRY_POINT

TELNO_TYPE String
TELNO_TYPE String Home_tel_no

URL_TYPE String Entry_point
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Class UserInformation {
private String name;
private String password;
private bool isValid;
private accountld;
ivate List<Logs> histLogs; C = . .
L s 012/212] 2228 Collection Attribute 2
private int totalGold;

}

[9 B2 =0l CHsh X 2| Al

StLEC| InstanceE DynamoDB

List<dynamodb.Item> splittedltems = DynamoDBMapper.convertToltem(userinfo) |tem2§ Sp[|t'5|- OII _C'>I;|-7}| HI_'| O‘”
splitteditems.foreach(x => table.putltem(x)); X_I yN!
o

private void storeToDDB(UserInformation userinfo) {

}

private Userinformation restoreFromDDB(String userid) {
List<dynamodb.ltem> splitteditems = new ArrayList<dynamodb.ltem>();
dynamodb.Iltem currentltem = table.getitem(“Userld”, userid); splitteditems.add(currentlitem); O:l E':I 7H 9| D amQDB ltem= =
while((String nextPos = currentitem.getString(“NextPos”)) != null) { = -'-|_ O;I X| |:|. |_ |-O|
currentltem = table.getltem(“Userld”, nextPos); splittedltems.add(currentitem); T-—=0©0 -] —

} InstanceE XS

return DynamoDBMapper.convertToUserltem(splittedltems);
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USEROOT  YES HANK  202cb... 55523

16:1...",...]

USEROO02 YES IGUANA  962ac... ‘oo " 03-240-X

17:1...",...]

USEROO04 NO LILY 59075... ‘“ooomes - 01-210-X

16:1...",...]
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USERO0O01 YES HANK  202cb... “ooormier 1 [“aaa™——] | USERO01-p13

USEROO1-p13 |YES 16 47782 NIzt TeleEs el END



=M

217/| d8l: Workload0l| &= #H2| = =& = Gls L

0il) User ID/ PWDEt =240
QEHMETI M50= AX|2F A 0| TAZHM HX|= =X
A& 5KBEF Q1 MCHZE O|H 2MBM Q11 41 912

LOGY At& £QI/X 747} Batch® SZ}. CH2| Read/ Write7} 244

LTt

Main BlockO| Ottl Row0i| Rl= HIO|HE o 10| 7t M= &8 0| Blg L L

MEXHHOIH 27|15 HS2[A 0[N AEH L2 £he|d==0{0f &




Sl O Al

<



H el

el

O (ZEH)2| Ed=2 LOtOf efL|Ct

HO|HE EA0| W2t 2&FolOof LTt
At At&ot= H|O|H2f A= AFESLHX| 4= | O| &
dEo2 XK E'_|E|E H|O| E
=0 2t — Status / Count
2M ol

A2 Y RCE 22EL )

2ol HIZEC 7| A E =L T

SORT Key2

| CIA+E

H Ol 2] &= 1 Composite Key
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HO|H 28 158

[“2019-12-31 14...", u n _
USEROO1 HANK 202ch... R o e T [“aaa”, ...] USEROO1-p13

USEROO01-p13 [12345,77863,43]

USEROO1

At LH-EO0| HE &[T A, =2[7} RIS T dot= 8.

USEROO1 YES 47782 [{itemcd : “guntlet”, amount : 2...}]
S|IAEE| ol AtRE, FIH7 E|HA|, EXN 7|Zt0] X|LHH, XAl OF St= AtE =

USEROO1 [“2019-12-31 14:..", “2020-01-03 16:1...",...]
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Record® Q1A &= U/| ofH, 2| =71
T/t R oz dEY = UA M

USEROO1 “LOGIN”"

O, Primary KeyE& +&0ot0, 7HE
= 1245t Composite SortKey =

At LH-EO0| HEE|TA, =2[7} RIS T dot= 82

USEROO1 ‘Serverld'+":" + ‘Charld’ YES

[{itemcd : “guntlet”, amount : 2...}]

S|AEZ| ol K=z =, FIt7L KA, 5 7| 4F

USEROO1 " OG"+"'+'Serverld'+":"+'Serial’ ["2019-12-31 14:..", “2020-01-03 16:1...",...]



H[OE] Z:17]12] FEN

AEXL] 2= O[5S L 2101210 of =4
aws dynamodb get-item --table-name MainTable --key ‘{"UserID": {"S": “myuserid"}}’

AMEAL] S AMH0 S5l 715 S22 510120 o =

aws dynamodb query —table-name MainTable —key-condition-expression “Userld = :id and SortKey
= sk " —expression-attribute-values "{ W".idW" . { W"SW" : W'myuseridW" }, W":skW" : { W"SW" .
W'SRVOT:.CHROT#W" } }

AMEATS] =8 HI0IH A5(L0G)= L 210124 A=)

aws dynamodb query --table-name MainTable --key-condition-expression “Userld = :id and
begins_with(SortKey, :sk)" --expression-attribute-values "{ W"idW" : { W'SW" : W'myuserid#" },
W skW" - { WSW" - WILOGW" } }"
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DyanmoDB Workshop for workload
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